[ime : 3 Hours Marks : 160

lnstructions ;

(1) Each question carries one mark.
@8 (@315 af Jrdy Sod.

(11) Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4 in the circle
pertainung to the question number concerned in the OMR Answer Sheet, separately supplied o
you.

BAE 2035 (D8 DAY a5gwdS A P0THE DIFEIINI BN ED ol

“rdod wo3 1, 2, 3 T8 4 Jdonr ad)d OMR Hdrgd D (D)8
Rowodoud Dopgio VYLD wr/erl ord ronod Hdy 4B ~onE T,

BOTANY
1. In Bentham and Iooker’s system of classification, the sub-¢ llac and Gamupetalae

Bod A yad E'f:*-gu;ﬁa SO0 ao&rown

have the cohorts in the ratio of !
Bograw, owglh a’:Qﬁﬁm siga &, FODUD i%@aaﬂau‘ﬂ LTSV
(1) 3:2 (2) 1:1 1

(4) 2:3

2.  In which of the following plants, pollen i @ before the stigma becomes receptive in
the same flower ?

(1) Selanum (2) .-'.Hii (3) Colchicum (4) Datura

a8 YaNos'D Sevfo DK 8% dn0d ®8 Plhyed'd Hryd Jdde
s*Hdo, 6 (508 InEHe EdB0b7?

(1) edSs 2@ 5255 (3) =ByE%s (4) s8¢

3. Chromosome number ndosperm cell of plant ‘A’ and in the root apical meristem cell
of plant ‘B’ tog the chromosome number in the shoot apical meristem cell of
Apple. Plants A respectively are

(1) Rice, Maize * (2) Maize, Haplopappus
(3) Ri (4) Rice, Haplopappus

A unsad:ﬁ%ﬁ o' Lﬁ"ﬂ?ﬁ‘mﬂﬂ ﬁ&m% a00ciw ‘B’ 3::5} B uLﬁ
pET00d R Swo (5 Drstsve BoRg OB ¥DY (D50d B Dyragsinre
So¥ D (' 3ratdne dopgsH HErSon dowod. A S0 B Ing) e SdvHm

(1) 20, 3 a"S)y (2) So¥p Sy, SFFILE
(3) 50, vor¥sod (4) 50, SFIES
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4. There are 20% Adenines among the bases in a DNA fragment measuring 6.8 am in length.
The number of pentoses, nitrogen base pairs, phosphate groups and hydrogen bands in this
DNA fragment are respectively '

68 nm 8% Ko of DNA podfos'D poed 20% wdd5e: Kof). & DNA
208809 Dod'Dey, HE=) T vdoo, PO p o Do Ho0un '%}*LE’:.N
2008 ﬁm:pﬁt:u adan
(1) 40,20, 40, 52 (2) 52,20,20,40 (3) 40,52,40,20 (&) za@ 40
5. Match the following hsts Oe

List-1 List-11
(A) G phase (I) Replication of DNA OQ
(B) S phase (II) Quicscent stage \
(C) G, phase (I1I) Condensation l:lf
(D) G, phase (TV) Protein synthesi

(V) Interval be &? and initiation of DNA replication
é |80 wbero® Hﬁﬁﬁﬁnﬂ

aior.]
(A) G, &% M D \)
(B) S &% (11
(€) G, % {% 5 Hoevmo
(D) G, G4 & 8 wodam .

P DPedh, DNA $858 mbogrnE ﬁn_ﬁ&_ﬂ?ﬁ:ﬁi'

The correct r 48 |
ab 2o Q%A B3

( ) (© (D)
(1 (I () av)
(2) ) Yy D (11)
3) V) av) 1
@ MM O avy a
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6. Match the following lists

I!iq'-l l.l-i‘l-ll

(A) Golgl apparatus (I} Conversion of lipids 1o carbohydrates
(B) Glyoxvsomes (IIY Catabolism of long chain fatty acids
(C) Peroxisomes (HI) Formation of glycoproteins and glycolipids

(D) Endoplasmie reticulum. (IV) Synthesis of lipids
(V) Osmoregulation
g1 (Bod oo addddod

wDo-I o1l
(A) D 8880 () %ok 58 @lam dnd
(B) ﬁuﬁaﬂ’ﬁ:m () &g Hyopo ad uire 203
(C) ..:rmﬁﬂ‘.'iﬁmu.. (111) HE‘ Lﬂ*e&ﬁm. REDBE
(D) woddd |Edguroo AV) 9bGo dodke

The correct answer is

(V) (S>Ds8 ﬁﬁﬁu :Jcﬂ!@f
+ O
20 DOTR PVIFGTRIW

) B (© O (5\'
(L an @y vy (@D 0
@) V) (V) @ (I
(3) (V) (V) (D (m O
@) @ @ ap (V)

7.  Which one of the fullm;-'ing chara i found in transverse scction of monocot stem?
(1) Siarch sheath "-‘3\ (2) Sclerenchymatous bundle sheath
(3) Lysigenous cavity : (4) Sclerenchymatous hypodermis
8 (Eob oF Ewedt 2 fehusodo ugisas’ sUNONET?

(1) ©od ad 2".' di@Smurodiod Hoay wd
(3) odherd Hbr # 4} S)dimerocing vwEiyd)0

8. A taxon is observed. giri variety which is resistant to hill bunt disease belongs 1o this
taxon. In this t pollen grains lose viability within 30 minutes of their release from

anthers. 'l@a belongs to the order
(1y Po (2) Sapindales (3) Polemoniales (4) Rosales

s &$§J 50800 udo =0N0d. Wd wod g8 (HBE GEEN Sr D T EN0
880 & s B Dok diod. 61 reyRS® S TP SoriE e ool IHETD
30 3ndred' s i JuosE 480 'O yaow. &1 45N @ (FSrR8 Dodk&od

(1) 32058 (2) >%cdOB (3) SH3rDTHOS (4) L
Rough Work B
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9. [Identify the wrong combination .

(1) Marchantia — Pseudo-elaters (2} Dryaopteris — Rhizome
(3) Cycas — Coralloid roots (4) Folvox — Colonial form
HO5R BH¥doHd Hedodod .
(1) &rempoficir - ud d adblw (2) (SirDES - E‘ﬁma
(3) 5% - Povy @) orogs) - HoNE4 drdo
10. Match the following lists
List-1 List-11
(A) Micrographia (I) Skvog O
(B) Technigue of plant tissue culture (I1) Bessey C)
(C) Phylogenetic classification (T111) Joseph Pri .
(D) Absorption of toxic gases by plants (V) Robert
(V) S 05
& 80l =Derod ad SHhddn
o @a‘-ﬂ
(A) o8 Sods )Ca-g,ﬁ
(B) Eh&!a, Erasvey 5-2’?:- E}QE | i.'.‘l'.-::.]
(C) $¢ D576 Hb85w 61"1 &0 (0%
(D) S D80S 2 @ (IV) :Fuﬁ Pt
FouHod Fhoddo Q (V) $98 o)
The correct match is 6
20 :’aﬂ@aﬁ ﬂ"da%
(A) (B) (C
(1) (I (1) mﬂ‘h’}
(2) (IV) (1) (I)
G) M @avy (v
(4) (1V) (1) (1
1. Tric 1um erythrium which gives colour 1o red sea is a
( wn alga (2) Cireen alga
(3) Blue green alga ' (4) Red alga
J(8 BIENEDE JoMs Sed s Bestatyoio JOBAHo uE
(1) & &g Adoo (2) o%HBHsS) FSo0
(3) 28 uHHIy FSeo (4) 262 S ASL0
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12. Identify the characters of mustard, chilli, cauliflower respectively
(1) Axile placentation, tricarpellary gynoecium, sessile flowers
(2) Inferior ovary, zygomorphic flower, corymb

(3) Wi{;urleld phyllotaxy, umlc-ﬂulur ovary, production of flowers at the same node of the
peduncle

(4) Hypogynous flower, umlm:u!u: ovary, corymb

ud, NS, OBI6S'N cfarod SHBM KHBodod

(1) $o¥f wodargho, BDod¥ wod'do, S)od Ewd Q}#a@

(2) D0y woarddio, FEE RS dded PAayo, DHID

(3) 'tSLgCﬁJ J8 JargRo, JEDodSnd woaridiho, YRy 2 Q
N8 Waryo oéy8 adddo

(4) und“‘r:ﬁfgﬁ Dayo: WEDocins woarfaivo,

*

od 28 £l

13, Four plants (A, B, C, D) are observed. ‘A’ has cartilagghousendocarp in the fruit and fleshy
thalamus as chief edible part. ‘B’ has caryopsis fo#l/With endosperm as the chief edible
part. In *C’, each carpel of apocarpous gynoecium deyvelops into a fruitlet and its mesocarp

and endocarp are the chief edible parts. ‘D has'y
To which families A, B, C and D belong % -
(1) Rosaceae, Poaceae, Annonaceae, i

(2) Annonaceae, Rosaceae, M
(3) Solanaceae, Cucurbitace
(4) Rutaceae, Anacardi

T FnEposs ( ;D) 58800380 28008, ‘A’ A8m T yviom aod

und::’;uﬁﬁuﬁnﬂ‘ & o) S0an EHFOS Y ydT R ;5.1.:1:5 B 8T o

DA ﬁubauﬁ ‘B’ wohd r.'.in Bed s 83 q:r-ﬁ'nrr dnﬂ 55 Dasdy 400

000, @ﬁuﬁh&ﬂ' ©od8 H0s*d [@820d¥0 w8 VOO BDIHATWOO

aamna 3¢ DosiSo, wodiHosido (DS DS 83 grmosm dodron.
Euﬁﬁﬂ DAY dagdSyodod sod 3 25845 S £0A sotnod.

h B, g5 Dew ;.‘nﬂa-:n' = E:bmﬁrﬁﬁ Eué.:u-ma?

(1) &'2%, 2THD, uTFD TH

(2) o3I, 88D, T, rdD

(3) oI, LHOHVD, wdsdTLY, TS

(@) orE%, w3s500hbh, 6'8h, UL
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14. Match the following lists

List-1 List-11
(A) Alstonia (I)  Roots at lower nodes of the stem
(B) Ananus sativus (1) Leaflets are attached at @ common point in the leaf
(') Sugarcane (IIT) Swaollen placenta
(D) Bombax ceiba (IV) More than two leaves at every node
(V) Underground lateral branches produci leafy shoots

& 8308 derod ud BYSod

2
Dol Lol Q

>

(A) uﬁ'@‘ﬁ)ﬂﬁr (I) sodoc TwE), Sob %\a o8 3:5:

(B) &aad “DBHD (N Do’ H8 & Dowvifjo Vo dodbo
(C) 38H () &dy & ORSEHI S50

(D) &owy Sear (IV) (»8 § H8 Dotk 0T 2%d Soree

g

(V) D Tpo Sduid HEEnd TROW

The correct match is @

b HOThS £44

Ay (B)
(1) [av)
2) {

I @
4) (V) ((IIp @ (@Iv)

Itough Work
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15. Identify the wrong pair of statements
(I) Number of stamens in 5 flowers of Allium is equal to those in § flowers of Solanum.
(II) The microsporangia of Hibiscus and Asparagus are having 80 pollen grains each. Then

the ratio of the number bf pollen grains produced from each stamen of these two plants
3.1 :1.

(I1T) The ratio of the number of stamens in the flowers of Pisum and 2.2 1.
(IV) The number of carpels in a flower of Smilax is equal to the of carpels in a
eyathium inflorescence. C)

s RO z2dod MbodSod f

() w9S5s®D 5 Parjed'd a0 Bomg ﬁ*ﬁ@':} 5 Pjyosty idow

WOREH VATV aownod. \
() 3095, vd)odSd'd H8 wrE) » o¢* 80 doriTBemoHen aamyom.
é Todo InFpod' &8, I D ad38 wlhy Sod Tmeio

wogrg w28 1 ¢ 1o dokse
() 255, 8828 oD Fhp topg Tty 438 2 1 Im sossod.
(IV) 35008y 2.8 Hayos' © Doy nE DAFPHI: t’a"qaﬂ:ﬁ;:’:nd‘ﬂ

puders DoppH D aod&uod.
(1) (1), (1) In), (av) (3) (D, (IV) 4) (@0, (D

‘o

anis generally do not show the following character
arge and colourful (2) Feathery stigma

16. Wind pollinate
(1) Flo
(3) Sin
FolaNhod Hobdjo 2HPET Tnjo FEnom & ofmrd) SrhodH
(1) Hayeo DEIM, Johes dodbo (2) &HEsSod demKo
(3) woardchod’ ol wodo dodbo (4) WISl Thow

vule in the ovary (4) Well exposed stamens

Rough Work
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17. Identify the pair of wrong statements in the following
(I) Intine of pollen grain is made up of sporopollenin.
(II) Pollen grains are well preserved as fossils because of the presence of sporopollenin.
(111) Enzymes can degrade the organic material of the exine of pullen grain,
(IV) Sporopollcnin can withstand high temperatures, strong acids and alkali.
Gi (Bod FES" HOSWN wgpgo sdol H:0od0d

() SoBTemiy Bl vods DEDaESIo FN6'2BARS" 2038 agaped
(I) ﬂ"aﬁ'ﬂ‘ﬂﬁﬁ B0GS0 I Sorfi o fowroam !ﬁftﬁﬁﬁ-ﬂ)@

(l) 5 BS w0 ST wimg HEDuESSos® 403 ToBoh Sy IEN0DROY)
(IV) 28 3 BIS 08 aFiSoh, vOHS BITOH,; §FO' §rods

(1) (i), (1) (2) (m, av) (3) (), (1D @) (D), (D
18. Study the following lists

List-1 List-11 5\\

(A) BOD (Iy Treatment of sewage
(B) KVIC (II) Mecasure of organio in water
(C) LAB () Biological controlling plant diseases

(D) STPs (IV) Increases vi {2
(V) I"m&ugh gas

& 308 erDorod wdgul

rdor-l

(A) BOD (M l DAY BoHEBENRL

(B) KVIC 8s*0 5633 Do) BwES BOIr=E0

(C) LAB T o Tgho Nabodnd aBTNT &5 Adbolde JT
(D) STPs al"ﬂ 265 B, Doddo

*
(V) wGrmgs ad)3

The corr ch is

ad $ 80y

% (B) (C) (D)

(1) &), (adY) )

) (v) (m . V)

(3 (V) @an dam (b
(4 (I @ @V )

Rough Work
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19, Ideniily the correct pair of combination
(I) Parbham Kranti —  Resistance o0 Virus —  Bhindi
(I1) Pusa Gaurav —  Resistance to Aphids —  Mustard
(II) Pusa Sadabahar —  Resistance to fruit borer — Cow peda
(IV) Pusa Shubhra —  Resistance to white rast — Cauliflower
HOTHS FovnoR el ﬂaﬂﬂﬁﬂﬂ
() 38y (s*0d — B85S (DB5SES — ®o
() Hyrar oD — ®0)% L‘a‘:Eﬁ‘:ﬁ#ﬁ —
(IN) g Sowerd — $oo 0T fbsok DB6EES &5
(IV) Sy e — Bol HoH8s Bess (DB FES Q 258
(1) (1), (1) (2) (1), (1) (3) (), (Iv) Q ) (), (1)
20. Study the following lists
List-1 List-11
(A) RNAi () Cotton bollworms @.
(13) ELISA (I Early detection of HI
(C) PCR (1) Meloidegyne regi
(1)) Cry I Ab (IV) Antigen-Anti raction
(V) Corn bam(?;
Gi S08 wlood wdycias
arfior-1 I
(A) RNAI (D) L& OT Yt
(B) ELISA ( @ (FEIE E4S* B Sdo
(C) PCR O andNUD |DBO'GSE
(D) Cry [ Ab (D85S uddo - DBEETo DHIDHE Sdg
$ (V) 56y &°55 (Corn borer)
The co ch is
al & 5 &8od
A" B (© @
(1 (V) (@M () ()
(2) () vy (@ )
(3) (av) am (@ (V)
4) (D dm v) av
M‘Wﬂk

AM 2014 B
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21. Assume that the occurrence of nitrogen bases in adjacent positions in a DNA strand is
random, ldentify the minimum number of nucleotides in a DNA strand where GAAIL can
accur once on the basis of probability ?

DNA 248" 482D poves (38, (253 aodeo edd aird)u)yso wihsed. wogrigd
sordon GAAT [Sivo ufdd aodernl eledo Ao DNA & acd SpEmrpio
ENG hopgne f:Bodod

(1) 1024 (2) 512 (3) 256 tﬂ@

22. Some foreign DNA fragment is attached to Cla 1 site of pBR322.
is used to transform Escherichiu coli host cells. The cells 1

plated on two different media—one containing ampicillin
.
The transiormed cells containing the recombinant v

(17 will grow on ampicillin but not on l.u:tmnycl.l@ ining medium

(2) will grow on both tetracycline containi picillin containing media
(3) will not grow on either tetracyclin ur-nmﬁ_iﬂﬂliu containing media
(4) will grow on tetracycline but picillin containing medium

srirSo bkl & %8383 3 S50, DOIES VolS Sy Todk
Sdy 38 Srse :\% woDNOS SN 6, Todsd e EN LA 0
- oS iﬁ:ﬁaa(@ SiboTres oDy ONS B85ES TosS swres

&

Jevadh DNAR pBMH#@N Fho B8 0HHTToee H3 8. & YSrhoTras

%-ﬁ Srddo Md wdbaron, 0 BErRES 00D drdEo

(1) so%%

€ DAL H:0dn wobHOS K0A% cirise o8l Ml D heTaR
T 2OnY Ersgo Db oD, vohDHDS EDAS cSrRgo 6 5N WddD
&85 OA% dirdgo D38 nmeron, 9 uohhOS SOAS cirade®

AM2014 B 10 R



23, ldentify the correct pair of combinations

(n Mc —  Distinction between PS | and PS 1l

(I N —  Semiconservative replication of DNA

(1) *s — Polypeptide synthesis

(av) *p — Identification of chemical nature of genetic material

20 Thid Hov¥doPe =8l Hiodod

) "“c — PSLPSII S:8g dar

(1 N — @¢BodEs DNA (58538 @

(1 s — >02Rs volto O

(1v)*2p — =g Dorg I cRIE Hearardy hBeddo Q

(0. am (2) (an, (3) (I, G\Q‘ @ (@, an
24, Study the following lists :

List-1 List-11

(A) Exon (I) Site for binding of Qﬂymemse

(B) Capping (I Coding seq

(C) Tailing (I} Lagging s

(D) Promoter (IV) Methyl g ¢ triphosphate

(V) Adgnylate FeSidues
&1 |So0b devod u:}iatﬁﬁ-‘ oo
Dol \l Il

(A) d53% A POLTIE uu@nﬁpﬁ ?ﬁn

(B) =%oh Rnosd wbhEire

(C) BOOhH SD DEERED %

(D) ®3ré (IV) &BS mgS'he Todrwyd

(V) ©83886 edidre -
The ﬁ: atch is
1 hid £doW
A) (B) ((© (D)

(1) (V) an n (D

2 any avy )y (@

(3 M avy @O ()

4y O a1V
Rough Work
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15 If the codon GGU is reversed, the resulting codon will code for this amino acid
GGUboRdo B5AnaE 3T Boddo ¢ e vyl Bossom dosod

(1) The (2) Tyr. (3) Trp (4) Leu

26, Tall (T) is completely dominant over dwarfl (1), Red flower colour (R) is incompletely
dominant over white (r), the heterozygole being pink. Plant having genofype is self
pollinated. What would be the proportion of plants with dwarf and pi ers in its

progeny ! 0

SdH vimo (T), ¢ () oEfec S Hpromuirgeonra .’ﬁ)a'ab Qs ons

(R) Boododnz (r) Dol uﬁﬂﬁ_}'f pirddom ao ?@ dﬁq:ﬂinﬂ oerbEorads
% 20 2880a00. B2 Hodbd

500300 TtRr mdaglrne EDAS '3::-!{3'1,6‘ BHed
;e S0 faord ofarondy Sufe S0 dobod?

ST T AT
27. A cross between two tall ts produced all tall plants, The possible genotypes

gonaron, snd uﬁriﬁmﬁlum; graren

of the parents are
Bods 4hH) &' $uﬁa Hod8m uBBLIDpa uﬂlﬂ'ﬁ_ﬁ} 'ﬂuﬂg,"r'j ad o

ad #ﬁ_‘@aﬁ P L

(1) (i, (i) (2) (m), (V) (3) M, av) (4) M), (D

____—-—— = ﬂ—__"

Rough Work
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28, ldentify the correct pair of combination
(I) Viroid — Bovine Spongiform Encephalitis
(I1) Prion — Creutzfeldt-Jakob disease
(111) Measles virus — Glycoprotein projections
(IV) Rabies virus — Polyhadral symmetry
20 oy HgloD) Ao Béd MHBosSod

() Foond —&' 35 Pyo2Ps I5HPoas &
() (2cdrs —Lﬁﬁ:'.a@-ﬂisﬂ Tgd

() o%d) 368 — [ @*dS0s" 03835 doywo OO

(IV) D% B85 —wow ghur€)d ado

(1) (1), (i) (2) (I, (IV) (3) ﬂ};{b ‘(‘U (1, (I
29, DBeggiotoa is a \

(1) Chemoheterotroph { moautotroph

(3) Photoautotroph Photoheterotroph

B G oE b

(1) E>chShEndo - @ (2) & c%Hd Hroodnso

(3) 5708 Hyohoduso éQ (4) 0B HEFUSo

30. In flowering plants, th@hf perception of light/dark duration is
(1) Floral meristerhr) (2) Stem

(3) Leaves $ 3 (4) Shoot apex

fﬁhgﬂ@#}ﬂﬁ‘. 508/ 08 5o H360 (oD grddn

(1) g fmeroo (2) s~odo
(3) o (4) (P08 wiio

Rough Work
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31. Study the following lists

List-1 List-TI

(A) Early seed production in conifers (I) Indole substance

(B) Seed development and maturation (II) Terpene substance

(") Lateral shoot growth (III) Volatile substance

(D) Root hair formation ' (TV) Adenine deri v@
(V) Carotenoid

& (fo8 wrDorod wdgaido Fdhod J

wbo-1 4

(A) 5'0pBod® Foddm D85 4853 aiAde

(B) 235 wDH)B, HODHES @bﬁﬁnﬁ AT*hEo

(C) &&y4 (Pzrod Dhibdo 0 wrdyeo dorgo

(D) Srolrm 8 e b (IV) ©805 &8335y0
V) *au‘ﬂn-mﬂ a83%y0

The correct maich is

ab woThe e o4 Q

(A) (B) &ﬂ

() @av) qan

(2) (1) ’9\’) (1

(3) « (av) ()

M ) av

Rough Work
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12. Assertion (A) : The RQ value of fats is less than one,

Reason (R) @ The amount of CO, released is less than the 0, consumed when fats are

used in respiration.
The correct answer 1S
(1) Both (A) and (R) are tm:.- but (R) is not the correct explanation of (A).
(2) (A) is true but (R) is false. @
(3) (A) is false but (R) is true. O
(4) Both (A) and (R) are true and (R) is the correct explanation @}.

L 2
JEydo (A) ¢ '%ge RQ Jend uE8 557 a#:}ﬁ&una.

cimo () + Fige mygoese’ @SB dde Jswd CO,
29@rnos’nd 0, Y0¥ C)Q

ad DOTLHS BITW
(1) (A) 2208 (R) Bodr HEETN é‘m}h (R) 50550 dddm s&.
L 2

(2) (A)SBTHBA 2 (R)ND &
() (A) 0TRSO 578 & BTBSL.

(#) (A) $2008» (R)ﬁg*ﬂ,ﬁ__&:m. (A)S3 (R) 0T DS,

for the carboxylation of phosphoenol pyruvate in C, plants is

33, The form of i

L 4
C; Sy Fyhed D6dE s sor§yTash aBTrASE )8
groe
un@w; @ HCO, ‘
(3) C,H, (4) CH,
#— E————
Rough Work
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34. Assertion (A) : Higher yiclds in case of bell pepper can be achieved by growing them

in carbon dioxide enriched green houses.

Reason (R) : Due to higher intracellular CO, concentration in bundic sheath cells
RuBisCo mainly acts as carboxylating enzyme,

The correct answer 18

(1) Both (A) and (R) are true but (R) is not the correct caplanation of (A)
(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)

Aay80 (A)  : wdd 5¥)SBuE Y58 4B S0 Hydte st Soddody
wd¥ Ahoudn rdodSSy
odmo (R) ¢ Dozd &M §oro furodd CO, oy gydmon, RuBisCo

Bordon 5707898 JeBsm 303 o8
25 ROGhe wIw
(1) (A) $005% (R) Dods HOTHSD, 32 (A) :5 58w 28
(2) (A)H0THHS 50 (R) DOGNH 576>
(3) (A)H0THHB & 50 (R) S0 Tos8
(4) (A) 520052 (R) Dodr 0 W&, ( (B) H0THS Didw

15, Identify the correct pair of statements

() Niacin containing coenzyme ([peulitates the oxidation of malate in the matrix of
mitochondria. \ '

(1) Haem is the prostheti @ for the enzyine which catalyses the carboxylation of
RuBP in the stro roplast,

(IIT) The electron cam cytochrome *C’ reductase and cytochrome *C" oxidase is
attached to the(n surface of inner membrane of mitochundria.

(IV) Water split tion in the lumen of thylakoid requires chlorine.

LTS go g f:80308 |

H L0n% B> SES B&foro@dir Lr@Edt 20T 53786 6l S0ns
sOnweol

{!I§ 3Teoye*d usg€et 20T RuBP 5707388 S% 087080 Vi ISESE:
(1) 2

S0 (@788 Dinorahom aood
(8°5: ‘'C' 84ES Sa0ctn DHE'E'S: " wBydE Jdy QogrIn Tar¥o
2850 @dr SFHO S8 B SO0 FoDE wMEHI A0MN0S
(IV) Bosond 55738 w07 H8 dTHES S8gh F105 wanoo
(1) (I, (1v) (2) (. () (3) (D, (V) - (4) (1), (1)

———___

Rough Wark
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36, Study the following lists concerning the deficiency discases and role of elements
1ist-1 List-11
(A) Die-back in citrus (I) Urease
(B) Motiled leaf (IT) Hexokinase
(C) Mouse ¢ar in pecan (ITI) Nitrogenase
(D) Whip tail in cauliflower (IV) Cytochrome ‘C’ oxidase
' (V) Carboxypeptidase
Saroses Sl 0T sgdoos od @ ddom & (Eod wrDorods wgaiso
Sdiob
Dol D11
(A) QE&:&&‘ BwS 0 cSardhd
(B) SSyen o Bdo (1) ""u*ﬁ'gﬁﬁi O
(©) BeES 6 nahb ay seess O
(D) =b356S" Sdar &5 (IV) &% 55 w8 BE
V) mraﬁ@
The correct match is
ad w0The 8o \\
A B © M 00}
() (V) (I an av) 0
R N
@ av) M fﬂu %V}
37. Study the following table showi components of water potential of four cells of an
actively transpiring plant :
e wﬁ‘%ﬂbﬁa 2 S 2P E0SY 18 o) §°) St Sare Ve 48] wowbsw
'aiﬁsa:ﬁﬁ & |S0b AR - Q‘;Eﬂﬁaﬁﬂ'ﬂtﬁ:ﬂﬁ :
Cell Solute potential Pressure potential
smo (0T a8 4o Lad 440
[ g (MPa) (MPa)
-0.68 0.42
-0.75 0.36
~0.83 0.47
~0.57 0.29
Identiwihe four cells as root hair, cortical cell, endodermal cell (lacking casparian strips) and
pericycle cell respectively in the young root (assuming symplastic water flow through them)
G Teudy Eorods B8 5% Sovodod Swrotio, Soyo £mo, sodd 0] SBO
(57930055 wdon FhodS) H8cSn BOIYE ¥mom SEDM MY osod. (ard
g Doy vosSon graodod)
(1) A,C B, D 2) B,D,C,A (3 D.,A,C.B (4 ADCB
— — M
Rough Work
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38. Mawch the following lists

List-l

(A) Salvinia (D
(B) Lichens (1)
(C) Rhizophora (1)
(D) Utricularia (IV)

| V)
& |Bod wrDerods 2808004

Dol

(A) >Hedoir M
(B) B3nen (If)
(€) B&ito (I

(D) cﬁn@ﬁgﬁﬂtﬁr

The correct answer is 6:
2b &ﬂﬁé ‘.‘a%*’h
(A)

(12)

() am \Ma v) @

(2) (mn vy (0

) (m av) @

) (V) (M (@ (m
Rough Work

AM 2014 B
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List-1I

Submerged, suspended hydrophyie
Amphibious plant
Heterosporous plant
Soil formation
Halophyte

Qo
arom

AgaSg EnE),
Ded SoE

yod Dﬁ;}ﬁhn
oy nd Dy

oh edoodiom 4ol S0y,

18 R
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/B\

|dentify the wrong pair of stafements
(I} During plant succession, some species colonise an area and their populations become
more numerous, whereas populations of other species decline and even disappear.

(I1) Both hydrarch and xerarch successions lead to mesic conditions,

(111) Secondary succession is a slow process when compared to primary succession.

(IV) In the successive seral stages, there is no change in the diversity nfs@nrganlms.

w05 Fgwge =ED fadodod O

() Bwgreo whESo admddyd §V) =vdwm Bdud Beee wiEo
DFobron. 8 ddomr §'0) erdow §dod ﬁ@nﬁ' wdydgderon

(1) moFddo, muryrdfiso Dodr Sra ggn fam arderon

() | Pgg eBsS08 FOYSDyda, 838 [Edo0 I om adaisiod

(IV) $rgging (£5:805 Sf0s #5208 gos® Irdiym 200

() . @ @A)\ 0.0 @ . av)

40,

.
Identify the correct pair of statem

trolled by the nucleus of companion cells.

t in angiosperms,

(111) In dicot root, the% lar cambium is completely secondary in origin.

(1V) Cylindrical m%lm contribute to the formation of primary plant body.

0TS bR da8aSod

(1) e Ddied: dirfmre So|dEo JaboBEob

[[@aﬂaﬁuﬁwﬁ gormon udyd Herod* dobmon '

(1) Bgoebea S636°, @5 Dyregsnn® Grom BydUD )8 Hvdbod'S VW dhsod
(IV) rirsed Derap Enereren o) (E0E diro 20 G008" &'dyderon
(1) (1), (1) (2) (D, (1) (3) (), (IV) (4) (I, (I

(I) Functions of sieve tube

(11} Albuminous cells

Rough Work
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ZOOLOGY

41. Skin color in mun is an example of

(1) Polygenic inhentance

(3) Multiple allelism

SrnS 980 oy A28 aordw

(1) :.:-ﬁ'an::-‘a;ﬁ esodolide
(3) piotdind) Dfoys

(2) Sex-linked inheritance

(4) Pleiotropy

(2) Do wErol) umo@

42, Malch the following
List-1
(A) African sleeping sickness
(B) Dumdum fever
(C) Pneumonia
(D) Parasitic castration

BonowDn edbdsdisn

5884 \Q
(A) 8DEN sdE & % 1)

IS (V)

(Y av) aqm @ (V)
2 av) (@ @ O
@) am @v) am
@ (m O  an  av

4) STWES
(@

(B) dodo mebo % (I  Sraroes Fnw oo
() ﬁﬁgﬁ:‘ﬁﬁr (11T} E&znﬁr ool

(D) Sory20 62 aV) (EsdaEr mobosd)

E"&*;. adie s

__—#

Rough Work
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43. The inner lining of the ducts of sweat glands and pancreatic duct is formed by this epithelium
(1) Pseudostratificd (2) Stratified cuboidal

(3) Stratified non-keratinised squamous (4) Transitional
hedfodes $:005n 5% |H0d vre S50 Soo & DY oo A8 dE00
(1) grghls : (2) 20830350
(3) Bod, S08Q dWé duyo (4) Hogrgods

44. March the following
List-1 List-T1 C)
(A) Jim Corbett National Park (1) GujamQ’
(B) Kazirangs National Park |
(C) Mahavir Harina Vanasthalt National Park
(D) Keoladeo Ghana Nationnl Park

Eod SR edddashde
Sg4-1 ’\Q SQE-I1

(A) &S5 D& ardoss 8y \Q M
(B) E28om radh ' 6 (I) o Lﬁ:ﬁi
(€) &6 b :55;?%’6& a8y, (M o=

(D) 85%r0loir o5

(2) anp vy av) dn
(3) (i) @ an av
@ vy (O an (V)

Rough Work
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45, Males produce sperms by mitosis in

(1) Lepisma (2) Periplaneta americana

(3) Apis mellifera (4) Drosophila melanogaster

2 208" 50wl oo H|Fdarer JEydcerow -

(1) 9% .-".'r";_l_ (2) OB 03B

(3) 205 WO (4) Lﬁ‘#hmmna‘m®
46. The protozoan with heliopodia as locomolory structures Cp

(1) Euglypha (2) Actinophrys  (3) Entamocba Elphidium

= OTr3Adre JSoaddhaom EDAS (26 d s 4D A

(n d:‘»:.:-g#' (2) 22555 (3) Do (4) Jbaﬂ:ﬁ:n
47. In the following functional human lung studies, i total lung capacity

(A) Inspiratory capacity (IC)
(B) Punctional residual capacity (FRC)

(C) Vital capacity (VC)

(D) Inspiratory reserve volume (IR "60

(E) Residual volume (RV)
(F) Expirutory reserve vol
(G) Tidal volume (TV)

drddHa Boirio o ; 20R0QHOND & 500 wdzaihdsne YOD mb0d8
Dokl 270 S s 4300955

(A) doyeis

() Lﬁuﬁiia@ - ﬂ‘lﬁ: su (FRC)

£93 5o (VC)

P ood WwadbIrmo (IRV)

& $:3505rmo (RY)

NJEeR wed WS D8Srmo (ERV)

) Bad sovges (TV)

The correct answer is

w8 HBATEH DINEID

(1) (€)+ (E) (2) (D) + (F) (3) (A) + (D) (4) (B) +(C)

Rough Work

¢
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48. A Molluscan with caleareous spicules is

(13 Chaetoderma (2) Lepidopleurus (3) Dons (4) Neopilina
gwf.arﬂia‘:z gobseds SONS Sodpdd
(1) §s*aoy (2) BB&'HrES (3) 6°05 (4) ATRrBD

49. Prowus anguinus is an example for

(1) Photokinesis (2) Circannular Rhythms
(3) Effect of light on Pigmeniation (4) Phototaxis @
(@ 3D uaﬁrgs&ﬁ A8 s dm O
(1} 5708 edASN30 (I) 'S ool ()
(3) 807> 5708 |Berdo 08 u
50. Malc heterogametic sex, XX, XO type of sex dz«%@ found in
(1) Drosophila
(3) Moths uppers
adon wa e Hoowrddz dof, }{X.}{ﬂ6 of I.!g'ﬂﬂ HUs* wmybodiAs
(1) FFHe s EDoode
(3) Srdew {4} o oo

51. Choose the functions of
(1) Dilates blood vessel

C nervous system
es salivary secretions

rate, increases peristalisis

555&5‘4 powodowe Dqﬁ:ﬂ;‘m 38 05052

© D60, srorzordo wdo Wakns

(2) avebrPEeds Si0dn SodT D™ Lovod Sodub

(3) Iryscih pyods Tew weodhd, ryvePios 54D
(4) Trydads DyodS o 8000, LOPFOUS 808 wdfc Jalnd

_____——-——I—_—ﬂ

Rough Work
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52. Note the following f{estures and choose the ones applicable to wuchereria bancrofii
(A) Coeloxoic parasite
(B) Histozoic parasite
(C) Monogenetic parasite
(D) Digenetic parasile
(E) Monomorphic acoelomate parasite
(F) Dimorphic pscudococlomale parasite

(208 cfmrud Ao asTodr oo S $00T ool Hpguoe
(A) G858 BodyEd &
(B) fmave Sovddd O

(C) dsBPon HovS)#D 0

(D) 8gwbFon Hordy#d .
(E) DSdrd 460 H06sr8 Hovdydd Q

(F) B38rs Dgrg 400 S:6 dovsy#d e Q
@

(1} (B), (C) (E) (2) (B), (C), (F) ), (F) (3) (A), (C) (F)
53. Minisatellites or VNTR's are used in

(1) gene mapping DNA fingerprinting

(3) Polymerase chain reaction (P Q 4) gene therapy

St WA EPLe o wmﬂ% foB&E:

(1) H;'u;ﬂrhaﬁ (2) DNA %048 (bodlofi

(3) &85:3% oo (4) =g OBy

_ juice (2) Gastric juice and pancreatic juice

(3) Bile juice juice (4) Pancreatic jum: and bile juice
J5:8yE8mo 5 vovgres Kddos dd ok Dokl

(1) §'d05 o0 Mo BIRED (2) wEEEHdn Sbose B ignse

(3) DEJEBOHD SH005N BO(STIBY (4) §'306780 H0on Hdgiodw

st which initintes the intrinsic pathway of blood clotting and triggers cascade
is

ageman’s [acior (2) Anti-hacmophilic factor

Christmas factor (4) Stuurt-Prower factor
unﬁj‘ﬁ bd0d ('8 oD wodd Yz adrddid S8R 080 FEfEn D07
(1) SERE sddo 2) GrodtrBruds 6o
(3) B92% sdgo (4) Srdf- (@S0 »8¥0
Rough Work
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6. In which “Assisted Repredugtive Technology' (ART), “Test Tube Daby™ prixedure w apphicd 7
intrafallopinn transfer (ZIFT)

(1) Zygole-i
(2) Gamete intrafallopian transier (GIFT)

(3) Intracytoplasmic sperm injection (ICSI)

(4) In vitro fertilization and embryo transfer (IVFET)

wddagd N8 HEAS moBdaga” (ART) Derdod® “BF &g B8O (20408 30
R Ss D Bg80 edoc Brdan

(1) & BahS Fwmeds Sooing O oob (ZIFT) |

() S s Ferod s HoTrd D wad (GIFT) @
(3) Sndd @d3g0d's ffimols a0Bg ddSdo (1CSD O

(4} 768 wivg Hobsino - LodSr033 (IVFET) c

57, Choose the correct stalements with reference to organic evoluti S
(A) Flippers of whale and wing of bal exhibit anplogy O

(B) Wing of butterfly and wing of bird exhibit homolo

(C) Organs with dissimilar structure are called anal

(D) Organs with similar structure and ongin are cal ologous onzuns

(1) (C) and (D} (2) (A)and (C) (3) d(D) () (A)and (B)
AZ D0 RN N popodous mOTHS i a0 o wSass

(A) 8nodeodn S6> Wong SoDcdno A BE, wrodss (288 aon

(B) Les'sDeed VY S0ww Brods (D80 |
(C) Do DI Sgd0 Ho (BosridrSag ua:ﬁha‘uugﬂﬁa
(D) &3 VSR Y Sbaw €ON ebcherod Yo Iig eSaToId

(1) (€) 0dim (D) nass (C)  (3) (B) ok (D) (4) (A) =285 (B)

32503 B S0l Bonodod DAHPIErO EONS IO 538 0355

(1) nDoduorondair 53080 SHS Soronbalr
(2) 3yeondair sapasy ot dsorond ol
(1) atStgooronddis S0 JEronddir
(4) DLorendasy S90EN o800l o

D
Rough Work
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89. Dense regular connective tissue 15 present in
(1) Pencardium and heart valves (2) Ligaments and tendons
(3} Joint capsule and Wharton's jelly (4) Penvsteum and endosteum
ro|bdd |¥Sodfnd DoTWrul fnwoo JOS' dodo
(1) ryfcdrdide 8 S0an ol forbw
(2) wod€idues So0din Amuin wodsdduos

(3) 8¢ MP5 So0un ogsEY
(#) DEgRE S0d» JogrPdivo

60. The secondary stem cells that produce Neutrophils is

(1) Ervihrocyte committed progenitor (2) Granulocyte- yie progenitor
(3) B-cell committed progenitor (4) MEW

Sro|stHEyas agyS sn dan agaah ool

() Jbi_&‘:-aﬁ U5 ZaE265 (2) ‘:15-.3.115‘ & (SEINE
(3) BHd £088 @3006 ( E-H‘Ei;_a' g'-§

61. Mutch the following
Set-1 0 Set-11
(A) MNatural active immunity 6 (1) Develops due to vaceination
(B) Nawrnl passive immunity, (II) Anti-rabies serum
(C) Artificial netive immuni \ (IT) Acquired after smalipox infection
(D) Artificial passive mn% (1V) Transferred from mother to child
Solaen mdBdad:

S¢g-1 S¢-
(A) Hire B netgsd n dsw ogor &) m:ud::u
(B) s3a & (I cirod-orDB
(C) Sjax |Bdwfs 5'HDGE 5ES () SArd 8D hm;a Doyds
M) £ 8 B'4DEGKES (IV) 88 2308 DGH 28b wHS00

match i=

et 8oy
B) (€) @)
am avy am

) (V) (i an
(3) (D (V) (@)
@) am  avy (@

Rough Work
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62. Mumch the following

Last=l List-11
(A} Zygomatic bone (1) Keystone bone of cramum
(By Lacrimal bones _ (1Y Cheek bone of cranium
(C) Parictal bones (1) Smallest bone of face
() Sphenoid bone (IV) Roof of cranium
(V) Floor of cranium @
@uﬁ::‘*ﬂ!) =S DS S0 C’O
s8¢.1 SSE-II ’Q .
(A) 83085 D ) [ERchods !ﬂﬁ@ﬁ’ﬂ
(B) w@® i () SDoo6'd Jod Ao
(C) Harghoes () S grrod 2508
(D) Hysiabo (IV) e Hing »
(V) Ede
The correet match is @
.
28 H0THE &80 \

(A) (B) (© (D) C‘
(1 () g (V) w\{@
@ ) (V) db.

(111)
(3) (1 Wy (Ve

(4) (I uw& ¢y
63. The wﬁ human eve teccive impulses by the innervation of these cranial nerves

ot fodorod: D' daod 78 B dEn T SFroTdio

ST* 2
(B IX, X, IV (2) VLI X (3) HL IV, & (4) L 1v, Vi

e ————————————————.

Rough Work
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64, Maich the following

List-1 List-11
(A) Leydig cells (I} Carry sperms from seminiferous tubules to vasa effercntia
(B) Sertoli cells (I) Nourish sperms
(C) Rete lesus (lI1) Secretion of lestosterune
(D) Corpus luteum (IV) Secretion of progesterone @

(V) Secretion of oxytocin OO

BoldarRn udddniiaw X

2¢ge-1 sgen QQ
(A) DAR Jares () S Eeom ;I? F0de S0l H|ETPEed’D

S Sk

(B) S50 e an B h"&a-ﬂhﬁ:
(C) &8 w0 (II]} [} (SO
(D) 5200 wrddho B (oS

@tﬂ!ﬁﬁﬁ& (PRoSRy
The correct match: 15 6

0 POTHD a‘a‘?&

(A) D)

(1) () :]u;% m W

@) w ) av

o M av

$ am @y ) v
Rough Work -
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65, In the life cycele of Ascaris lumbricoides rhabditiform larva undergoes 2™ and 3™ moultings
in
(1) Small intestine (2) Liver
(3) Heart (4) Alveoli of lungs
wh 05 woBroxd s 408 Sfod' oUE; SotfdSn 28 Sobdin 38 DB Smes
ad e wdaenfiovas

(1) 98y Sk 2) sdahss Q
(3) A0B @) ®Hoa&od's é@ o
L 2
66. Statement (S) : Lancelets are jawless, primitive fish Iﬁm&s,

Reason (R) ¢ In lancelets notochord, tubular nunQ\ pharyngeal gill slits are

present throughout their life. @.

The correct answer 1s
(1) Both (S) and (R} are correct and (R) correct explanation to (S).

(2} (S) is correct bul (R) is wrong, @

(3) () 18 wrong but (K) 15 co \

(4) Both (8) and (R) are nu@ (R) is the correct explanation to (S).
S4es 80 Bdoeorod) Es DEHASg.

Teng (S) B
oo (R) : © Ghoth B)a oo, TR IS TaSodo H0ks (HRAERS)
5o ADoodo dolron.

ad [OTH $§F5ﬂ
(1) (5&@ (R) Bods H0T0SD 59 (S)E (R) HOTHS Dddw s°8s,
(2) (S)ROTHSE 50 (R) HOTHSE 5.

(3) (S)%6TuEA 5&: 2D (R) HOTHSS.

(4) (S) 30085 (R) Bodsr SOTLSY: (5)% (R) $0THS dHdn.

Rough Work
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67. Mutch the following with reference to Adaptations

List-1
(A) Sea gulls
(B) Kangaroo rat

(O
(1)
(11T
(IV)

(V)

(C) Turtles
(D) Salmon

viiirodoks Sou0dodd & (BodaIR adddidin

List-11
Chlonde sccreting glands
Warter cells in rumen
Salt excreting glands
Oxidation of fats 1o generate water

Anadromous migration O

O

S CHEST
(A) & iy () ‘D&% (ZDoT (Ko
(B) ¥om& Jden¥ (I (D85 usry Srren
(C) =B (I odm DHYS
(D) s (V) FHgd u ghdo crgor O AsNE
(V) ﬁﬂ‘Lﬂ"

The correct match is

2h BOSLE 8o
(A) (B) (©)

(1) () {W} (1)

g\\Q

2) (I
o %lw

following helps to maintain specics diversity in a community ?

(3) (1)
(4) (ih
6GS. Whlnh@
(1) ive parasites
tors

Sreod'y wrdio o) Nogroddedt 83 dER (Bod SRS D07

(2) Omnivores
(4) Herbivores

(1) 3F0y% Sovidy dHes 2) SEgEmes
(3) aoggsw (4) S)EdEros
Rough Work
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69. Which one of the following is the first step in allopatric speciation ?

(1) Polyploidy (2) Geographic isolation
(3) Hybndization (4) Genetic drift
wd*MEE BARWTHAS tardoo 4838)5* Twdd ow D07
(1) dOFrond (wiregR8Y) (2) JR'0¥ DILS
(3] Rofdmo (4) BO8E (49
70. In Periplaneta, which one of the following belps to nourish the sperms | é _
(1) Utriculi brevores (2) Ejaculatory duct 0
(3) Vas deferens {4) Utriculi maj .
DA>IS’ & FolodS* AD Hf¥ero Do E"‘-":" o0
(1) cba|@¥seD D8y (2) %o
(3) HE>ird ) a{@gﬁ 25y
71. In Periplaneta, ductus ejaculatorius of male @Liw: system lies in
(1) 6" sepment (2) 7" segment 8" segmenmt  (4) 5™ segment

LoD Hdoh Devgsyd :}353 S50 Bpos avo At aoduss

(1) 62 gpoddo (2) 75 (3) B3 poddo (4) 55 podé&Ec
72. The type of syngamy seen in ympha is

(1) Conjugation (2) Hologamy

(3) Anisogamy % (4) lsogamy

295'00re" wMaReve Sodinl SoWrN 550

(1) Hoosnn (2) &' ’

(3) u‘«f@ H3% (4) &5 doTrnsw

73. The binchemical procedure used to detect himan chorionic gonadotrophin (hCG) is
S92 $°0uirNE Ml (8*58 (hCOIoM (00 h DT Ao SHErokd Dedde
(1) ELISA (2) WIDAL (3) CAT (%) MRI

Rough Work
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74. In EEG. the waves which are quite low in frequency and having high amplitude are

(1} Alphs waves (2) Theta waves

(3] Delta waves _ (4) DBeta waves

EEGS* svsiySgo g diy am aod DS fobd HOLBI 50N acd d8ome
(1) wory ddoiras (2) ber ddomen

(3) Wy~ S¥omes (@) bher SSamos

List-1 List-11
(A) Down syndrome () 45 X

(B) Edward syndrome (D 47, XX, +13 OQ’

(C) Klinefelter's syndrome (I1) 47, XX,
(D) Patau syndrome (IV) 47, &
(E) Turner's syndrome V) 4?@
81 BoldodR) mdddedodn

- @&)

75. Mutch the following O 5

(A) @5 Bo&'S & 45, X
(B) 2838 Tol6'S Q (I 47, XX, +13

(€) 3uogb So@ (T) 47, XX, +18
() e Loia* (IV) 47, XX, +21
(E) &8Y5 Bo (V) 47, XXY
The corree

28 » by SO
$ B © © @
‘[(gl m (v a0
my av) @ m  o
H@m amy oay o 0

4) av)y @ vy @m @

Rough Work
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76. Choose the wrong statement with reference to subspecies

(1) They show minor variations from parent population

(2) They do not interbreed with individuals of other species

(3) They are new ﬂpenie:; in the making

(4) Cieographically isolated population of a species

4528 vfwofs HowoPoDS BOSD Tewsss I3308 @
(1) =0 228 8 23y S0 Beoy Srdye ﬁndﬂaﬁaﬁ:nﬁ*@

(2) 30 add o 555_:::16' Puado wdinay) 0

(3) 82 SAErEHEI) 8 ardaen

\\3
(4) o€ o8 Thod) AV DIES BodS ua'-q,r-i’\o

77. Erythropoietin is a hormone produced from Q
(1) Kidney *@Thymus
(3) Pituitary . Gﬁ!{l Heart
IO (B rond S SE8 6D % Yooy
(1) S igBodo (2) BHRS

(3) Darged @ (4) %03

78. Intra abdominal testés are found in

(1) Canis and K@K (2) Panthiera and Equus

(3) Macae pus (4) Balaenoptera and D:Iphi;m

a4ddo dwirp e d86* aoeron

(1) 2% S8c%0 HOS (2) Srodo S0cke HEgB

(3) S5°F S0dsn S 0% (4) DoarPor H0an BOHID
Eugh Work
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79. Maich the following

List-l List-11
(Part of nephron) (Function)
(A) Proximal convoluted tubule (I) Impermeable to sodium tons
(B) Distal convoluted tubule (I1) Tmpermeable 0 water
(C) Descending limb of Henle's loop (Il1) Faculiative mﬁu:m@-um and Na'
(D) Ascending limb of Heanle's loop (1V) Reabsorption of @: (s and Na®
(EoB8700 sdBintHSD : ()
2841 (3= whio) ’@3

(A) DD SodPd>do m,° bo Boirss s dridgs

(B) Srovd SoSPETo § udr0nsogd
(C) ) 2¥5H w385 e @ Hds, Na'o D038 HWE' e
(D) %) REgH ub'd iy 0 V) *asw, Na'o ' jhe
The correct match is b
all BOTR =Ao0W ’\Q
(A) (B) (C)
(1) av) () )
(2) (I (V) (1)
(3) (un n@ (1
(4) (IVp I () (D

a0, Thalassemia the gene HBAI1 is located on this chromosame
) Bobyousrs' HBAL sdogdy & (B'Rrd'Ss DS aod

(1) 16 (2) 8 3) 22 @ 9

#
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PHYSICS

81. Five resistances are connected as shown in figure. If total current flowing is 0.5 A, then the
potential difference V, -V, is
AhInG' SRS DS S A5 Gine RogrS DI, 8 onor (DS sNy Swdo
Qg8 (Hardmo 0.5A wond FTYoS dgo V, -V, Dend
6 [ohms) 6 (ohms) & (ohms) @
: "M
vV O
L 2
(n 4V 2) 8V (3) ﬁvs\\ (4) 2V
82, A purticle with charge g is moving along a :i@uﬁuﬂ R with uniform speed V. The
associated magnetic moment p is given by
uB 450 q o 28 €m0, R Igdrgsn f@s: 3)8507 HIPS 8 VS BEHESB.
T8 40d v o8 [Prind \
! 1
(1) 9°VR \@ 2 EVER
, o 1
(3) —qVR 6 (4) =qVR
4 . 2
83. A wire of | meters carrying a current | amperes is bent in the form of a cirele. The
magnitud magnetic moment is
woDahs Ddhedde Iralnddy L &, 8 fo of 84& Sersdsnd® Sodudio,
TRy, oad" wahdv od (S Ho5rmSN
L 21 LI L1
1) = ol i — L-A)
M & & ® 73 @ —
——— — ———————————————
Rough Work

AM2014B IS5 R



84. The major comnbution of Sir C.V, Raman 13
(1) Explasation of photoclestne elicot

(Z) Principle of buoyuncy .
(3) Scaitering of light by molecules of a medium

(4) Electromagnetic theory

HE .0 oviaS TWdy a4y )8 wodorSo @

(1) o8 &8 H08 2356

(2) GSHER Lr2dw Q
(3) Sragsy wodHod® o8 L dnsn O
(4) L&g8cidmod Woodie

absolute error in the value of A
Bads gras ovbm A :E:
A-B Noesatn T.':ﬁi’m

B5. If the absolule crrors in two phy;m: A and B are o and b respectively, then the
]

Addy Sdres S6dM 1 S:0030 b wond,

(1) a=b %}h-n (3) akb (4) a+b
86. A paricle ng from rest with uniform acceleration. It travels a distance x in first
2 seconds ance ¥y in the next 2 scconds, Then

L 4
5% 8 3908 nahoeds HI:Pg8nind PAENERH0. Wb Inss

X Erdiss (HordoDSs, Dok 8400 2 IS’ yATdsn (Ralrdodsd.

(1) y=2x% (2) y=3x (3) y=dx 4) y=x
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87. Atume t = 0, two bodies A and B are at the same point. A moves with constant velocity
V und B starts from rest and moves with constant acceleration. Relative velocity of B with
respect 10 A when the bodies meet each other is
o0 t1=05d, Tods S&iHoo A So0c» B E Dodod) 3G 433D, A S50 V el
ROIA0E A DO B SDF D1)0 D8 H08 noderdd HE 38608 i (SairdinsD.
@ Tods 3o DIV 8o 8 R SIS EootuDdyHds B S%edH 08 Sdo

AS FDSH B
O
O

¢

| <

(1) 2V (2) 2

& 3 4) v;\’\O

88. A body is projected horizontally from the top o n@a with a velocity of 10 m/s, If it hits

the ground at an angle of 45° the verti of velocity when it hits ground in
m/'s is .

&8 A0S D 208 2.5 3% &uﬁﬁnm 10 2:/% SKod’ (BE S0 Jabnsse.
wd Frd 45° Fosns o ekl o83 DSichod* Ido Tk, §Ba won

wofde B bodst %

(1) 10 6@' 1042 G) 52 4) s
2
89. Abody is p with an angle 0. The maximum height reached is h. If the time of flight
is4sa$ = 10 m/s?, then the value of h is

08 moBd et S0k (SEH5S Fahwsso: wd Fo £0G Jdyh. 66 mOS* (Sairdods
Sudo rodn 4 DY S0 g=10 /7" wonS, 836 h Dess

(1) 10m (2) 40 m (3) 20 m 4) 5m
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The linear momentum of a particle varies with time tas P=a + bt + ot Then which of

the following is correct 7
(1} Force is dependent linearly on time

(2} Velocity of particle is inversely proportional to time
(3) Displacement of the pariicle is independent of time
(4) Force varies with time in a quadratic manner

+§ Smidw Yy dhas Lr.:ii‘;; e o1& P=a+t o wrdadach,
wonSS [#o8 UG 28 DOJHI VSIFASY 0

(1) wodn, sedu® Thohiamr egdbddod .
(2) Swdn WDwfy dibn redl StErdrdo &0l

(3) Sz WuE), F9 |Foio, Foo® g
(4) wodw soesdrd TBodd drdom o8

)

O

A horizontal force F is applied to & :@mm m on & smooth fixed inclined plane of

inclination 8 to the horizontal as in the figure. Resultant force on the block up the
planc is
§ 8u SarodoRi O o R BN S8 o SodeTe Phym (HEgo?

o o8 B35) D, Dhing Do, LY & B SAr0SE BOEN F |STrN05B850,
dodn i 0T = 904 vodn

@’4} B

&; F cos 6§ ~ mg sin 0 (2) Fsin 0 + mg cos 0

(3) Fsin @ — mg cos 6 (4) F cos 0 + mg sin B

Rough Work
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A hody of 200 g begins to fall from o height where its potential energy is 80 J. Its velocity
st a point where kinetic and potential energies are equal is
(1) 1048 m/s (2) 4 m/s (3) 400 m/s (4) 20 m/s

80 %8z 930 ZOA ady 200 g |85g0°% do uf SWH wf I8 Sood bdso
sEofoned, R8s 45 B0 Moe fHo DHrIWS Dok 3¢ o Jisw

(1) 1048 i (2) 4 /% (3) 400 Jo/% (4) 2@.:

A bullet moving with a velocity of 3042 nv/s is fired into a fix It penetrated into

the target W the extent of § meters. If the same bullet is t'm o a target of thickness
L 2

-f- meters and of the same material with the same veloci et comes out of the target

with velocity
3042 D SA08 0.5 H>E Hol 2.8 HEDS D8 DonbID. vb ofgins'Dl

S & &rdo TS Fownd. e ﬁ&@nﬁa:&a. wd :ﬁa-quﬂ' Sobwd %h:.

$3060 50N vE oo’V wB JMo ﬁ@sgmﬂ; vfg0 008 Sodrd Mod nobes
Sydds ovd Fidn

(1) 1042 m/s {IQS.& (3) 30 nvs (4) 202 m/s

|
Keeping the mass o cn%s constant, if its radius is reduced to Elh of its initial value,
then the period of ation of earth about its own axis and passing through the centre, in
hours, is (Ass to be  solid sphere and its initial period of rotation as 24 hrs)

A5 {Q@‘BD fgd‘un‘ oW, @R a'gﬁ'gﬁwﬁa o &0 dewdd’ %i‘& PodE

805, $3yds gD Bo(So ovpor FSy o) wfo Tond, ¢rd Tl (FHerSEl
Sodn fobod (gfrds Ddf'¢¥o alaln H0cin ol 89 PHhorddd sodn
24 fobos wdE Sas0)

(1) L5 2) 12 (3) 3 (4) 6
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98, Three uniform circular discs, cach of mass M and radius R are kept in contact with each

other us shown in the figure, Moment of inertia of the system sbout the axis AD 13

sood® Srhdts M (@850, R seggSs £0AS Sards 58088 S5 oR) DY o
Ld Rl nES 30378 8 4058a5D. AB wiondom o Sg5% uwady pr&fo

Ly
—MR
(1) 4

MR

o2
(3) = MR? \Q\ @) ——

6.

%

If a body 18 mr.ec: ple harmonic motion and its- current displacement is. ﬁ limes

2
the nmp‘.iitm%
enecrgy 1

mean paosition, then the ratio between potential energy and kinetic
S

18 dodo Whn HB) SR D SHerpa 208, TR (DRl TH (FodRe

e2

562688 "—f- Be aSypds HBudEs, Aondss du dE 8

${I) - (2).3::2

(3) 213 @ B2

Rough Work
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97. At a height H from the surface of the earth. the total encrgy of & satellite is equal 1o the
potential energy of & body of equal mass at a height of 3R from the surface of earth.
(R = Radius of the earth), The value of H is

g and8odw 08 H I&s" fo o8 a8 A e Sy Bodo 44, grd: adsdes

=

3208 3R ISt 635, BN |SSg0"8 fo SN Gy DBuILE HIrSEs. wd v
H @=a (R= g Trg G S)

4R
(n % (2) R (3) = () 1@

Y8. A copper wire and a steel wire of the same length and sume cm&-@m are joined end
to end 1o form a composite wire, The composite: wire is hung 8 rigid support and a
load is suspended from the other end. If the increase i @ { the composite wire is
2.4 mm, then the increase in lengths of steel and co are

(Y, = 10 < 10" Nim?, Y =2 = 10" N/m?)

LB 2ED S0ass ¥ vds B'dho ul Eféiﬁuﬁm wE Doy B LoD B

H0ES fobnd Soang &4 IE858. odsif) & Wogy wE DSC 630 S0

edEn 9208 SordAabns, 5678 08 85 Fordbobudsn. & dosur
8K D d5HS* wdhidde 2.4 . @ b, ooh Bho @ EHS* Bdhidom
(Y =10 10"N/m?, Y, = % N/m?) |

(1) 04 mm, 2.0 mm s\@‘* (2) 1.2 mm, 1.2 mm

(3) 0.6 mm. 1.& mm (4) 0.8 mm, 1.6 mm

¢

99. Under isothe condition, energy E is supplied to a soap bubble of surface tension o and
radius @u le the radius of the soap bubble. The value of E is

i affNe LoHudt, & TgRgdn WO 0 Sodigs Ko Bmy wEi Sty
T BPoHy FakubsH E 48 %80 Uohwddd. E Dend

(1) 12m% (2) 16nr'a (3) Unce (4) 8nro

———
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100, The length of a steel rod is § cm more than that of 8 brass rod. If this difference in their
lengths is to remain the same at all emperatures, then the leogth of brass rod will be

(Coeflicient of linear expansion [or steel and brass are 12~ 10747C and 18 x 10794C
nespectively)

vg oo 64 ey TEDH, w¥ il I3 TG NAHET) S o.d. 283, w0y
ad'de $¢ on dHo gy VIS zod A0S5TIDY, udd S 00Q)

tady S0dinnddo B3 g8t S msrw S8R0 12x107%°C 18 10797C)
(1y 10 em (2) 20 em (3) 15 cm C 5¢m
¢

101, A block of ite of mass 50 kg is sliding on a horizonial It starts with speed 5 m/s und
stops after moving through some distance. The : that has melted due to friction
between the block and the surface is ( energy is lost and latent heat of
fusion of ice is 80 cul/g. J = 4.2 Jical)
50 &y, (63308 o a8 S0 Bz Diredd oS WwHEr POO.
s 5Dy 588 puoodo 5o  §80% Sdovd whStonod. BIy S20052

dou Sidgio Pgnded (& @n;ﬁ B30:83 (E5gov (S 3G B0 BN Sad0,
Bs0 (BAFSS ﬁ:ﬂ_‘.g-ﬂ odoa/|(mdn, 1=4.2 M)

(1) 1.86 g @ 286 (3) 386 (4) 0.86 g

102, A Camnot refri extracts heat from water at 0°C and rejects it to room at 24 4°C. The
work req rr:d‘ the refrigerator for every 1 kg ol water converted into ice (latent heat of
ice =&$Jkg} 13

'@il u[_'-pﬂ'ﬂhﬁa 0°C 58 o) A8 Fod a4V Lﬂh‘!u.ﬂ; 24.4°C 25 b8
) 250000, WHFDoIS (B3 kg V82 PHRTLEE BI30DY D (S0

%bﬁa:& ol S0 = 336 ki/kg)

(1) 244 kI ) 30k (3) 336 kJ @) 12K

Rough Work
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103. Heat is supplied to a distomic gas ar constant pressure. The mtio between heat énerpy
supplied and work done s (y for diatomic gas = 7/8)
%Gbﬁﬁﬂm E-'né w8 xndidrned oauns ﬁé‘ﬁl wodBNards. wodTuhnds
B ¥58 Sobadw SBS D8 e JBNE (BBFErmE BN y=T7/5)

(1) 2:95 (2) 3:4 Grd ey (4) 712

104. A closed pipe and an open pipe of same length produce 2 beats, when t sel into
vibration simultancously in their fundamental mode, If the length of the ope is halved,
and thut of closed pipe is doubled, and if they are vibrating in the fund | mode, then

the number of beats produced is 9
2E PAH Mo SrhS Ao S0 SODD oo (FaE,d8s" Jf seod’
gowon WRIPds 2 DdyodTren SeodEdron. Eﬂ?&ﬂ‘dﬁj nifo Sudwe
SaRd Mgo dy Tdodn daohnd, s Lﬂ-q’:ﬁ% Lodlo ARsdydds,
domd5 wond I3jedare nowg

(1) 8 . (2) 4 (3 (4) 2

105, A concave lens of focal length ﬁ:rngs } which is I

R times the size of the object.

T'hen. the distance of object fro 18

i
I S grgoddsdn S0AS h%@ﬁ $080 wf T/HI o0 VOIrE N8 *ii‘i wod)

Y (D8DowDy DH}? . WD pds Ebfo S48 S:08 $Hu%) S8
(1) 327 Gy 2t (3) f ) 23§

106, An astronomi pe arranged for normal adjustment has a magnification of 6. If the
length of the t pe is 35 cm, then the focal lengths of objective and eye piece respectively
are

8 gh GS090 D DEeren s’ 8S0NID P o) WSED MG 20 6. LB
=63 35 em wowd, Ss Sb¥o Hidn vl b5 T ged o wdinnt

(1) 30 em, 6 ¢cm (2) 30 cm, 5 cm

(3) 5cm, 30 cm (4) 40 ¢m, 5 cm
B —— — e — —_—
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107, In Young double-slit interference experiment using two coherent waves of differemt amplitudes,
the intensity ratio between bright and dark fringes is 3, Then the value of the ratio of
amplitudes of the waves that amve there is

STg8 dond DiBSw E0AS Bodk Sond ddomos HaTRod ol mob
WOE (RTrfo aror 06 ;‘:sﬂ!dm :i}‘gj'r'c:-d‘ cag@iuui B0 % -:.5..-55.:-5 %!‘u
eol B34 00 38 3 wondd pd 8508 I oo Sobd Howdoe JA 8 Jud

(1) 1:43 2 {%—i‘:] (3) [ﬁ%ﬁ] ¥3:1

108, Workdone in carrying an electric charge Q, once round a g radius R with a charge
Q, ut the centre of the circle is

o0 24 Q, uS13» ¥ONS wE R g r@rﬂlﬁ:‘m Jowd Q, uddiude
LE8 Soby BMETD SIHHS wOAS :a:l

00 QQ,
(1), 0 e u:z} m (4) ;En 2

109. The capacitance of two ce herical shells of radii R, and R, (R, = R} is
R, $:008» R, (R;> wgﬂmm $on D8 Solbch Rlysd T8 850e Wy

'ﬂﬂ".:‘-fnﬁ;} o ey

(1) 4ne R, % (2) 4me; R,

— R R
(4) 411‘!

()5 = S
T 'Ry-R,

of resistance 4 € is stretched to twice its original Jength. In the process of stretching,
of cross section gets halved. Now, the resistance of the wire IS

&1—1 O G s Ao of 80 ol B0 EYPIL TVLIoY %) ety R E G IO
& Prbubde bod, Buggd 8 Broge Pho worss. Rdpds, 8 8 H6'ESW

110.

(1) 40 (2) 80 (3) 16 Q 4 10
—— —————
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111, If in an amplitude modulated wave, the maximum amplitude is 10 Volts and the modulation
index is 2/3, then the minimum amplitude is (in Volts)

o8 G'od H0M8 SrdgBal ddodod®, M0R Sodd HOME 10 JFouy Soduw
g BRS A0 23 wond DY Lo HoWE e (Sguedh
(1) 2 (2) 7 3 9 (4) 6

112. The truth 1ables of logic gates (A, B, C, D) are given here. Identify them correctly
38; orgoo Tng;, Ja BPEes (A, B, C,D)S* aSgugron, D ﬁﬂ@b‘ YR

(A) Input Output (B) | lopat Outp
A ] Y A B pg
0 | 0 0 0o | 0 |

X 2
0 1 I 0 t# No
1 0 | 1 0
o L XN

(€) Input | Output (D) ut | Output
A | B| Y Bl Y
0 | o0 ] 60 0 | 0
0 | 0 0 1 |
1 0 0 ’\@ | 0 l
1 ] 0 \Q I 1l o

6 (2) (A) — OR
(B) — AND
(C) — NOR
(D) — NAND ;
(4) (A) — AND
(B) — OR
(C) — NAND
(D) — NOR

Rough Work
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113. For the action of a CE transistor, (E = emiter, B = base, C = collestor) the required C3,
EB junction bias conditions are

(1) EB junction — reverse bias
CH junction — forward'bias
(2} Both EB und CH junctions — forwird bias
(3) Both EB and CB junctions — reverse bias
(4) EB junction — forward bias
CB junction — reverse bias
L¥ CE-|&°0y2 B L!cﬁr’i‘aﬁ Fat (E=agba, B=s5"00.C= )5aehe CB,
EBSodio ndlrd diw
(1) EB B0f - 88350

OB %08 - HE 450 00
(2) EB S:0ux CB Hodios Bodr - 6980 O

(3) EB 35055 CB Hodes Dok - nw%

(4) EB 200 - G40
CB %o - 85450

114. The nuclear fusion reaction bet

(1) ot ordinary temperature an
@) st low temperature and |

Ssls Saks To|sd DobSo Sdg wOTS
(1 dsd (8 S0dn DEvswe 5¢

(2) S5 mfs oo S8 5 bDasduo 3¢

(3) e\ 25 % adAd S:0cin wd €S DaSIve B

(4) LdSdrdg affis 88 Al s

_ 4
avelength of light that is emitted from Hydrogen atom when an electron falls from
itn =2 to orbit n =1 is 122 nm, then minimum wavelength of the series is

o dogyS n=2 £Eg 5308 n=| St BAZB s @RS DoIrEY S8
ag08s 570l S60ADd go 1220m wond, v (Td* SDLSL0ABE 50

(1) 40s A (2) 9150 A (3) 812 A (4) 915 A
Rough Werk
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116. When monochromatic light falls on a photosensitive material, the number of photoelectrons
emitted per second is n and their maximum kinetic energy is K__ . IT the intensity of
incident light is doubled, then

(1) both nand K__ are halved

(2) nis doubled but K_ = remains same
(3) K .. 15 doubled but n remains same
(4) both n and K, .. @re doubled

a8 D858 508 08 P8 Sl (mBE Borgo o HAIS P PEHS JOFaSie
Bbdeon. 78 10g (BuAL K, - 08 Sg5os k) 38 (P9 I, vy
(1) n 35880 K Bodods BAS» edis Q’

¢

(2) n Ogowmy) ey 570 K Srddy Josss
(3) K . O¢o% wlids s n 2oy Dod e @X

(4) n Sebasn K Bodsds BYoR) eirds

117. A plane electromagnetic wave travels i ¢. Then the ratio of the magnitudes of

clectric and mugnetic fields ar a point \
(1), Energy of electromagnetic
(2} Inverse of the veloceity

(3) Inverse of the en clromagnetic wave
(4) Velocity of :Icm:%wﬂc wave
a8 Ddvde 2 :ﬁ:-:b'a.uﬁ d&8oi0 bﬁ;ud" (B ND)0. of Do 5G

D& &u$ T8 § oo B0Srwre D08
(1) d& 208 ddofo TEy 158 HIrSo

(2) D& woh )08 ddodo aangy Ffo DS*S508 HErS0
(3) s8 wabdyo8 Ssofho ToE) 7§ Dé*%08 HSrSo
(4) WEeS wdbdvmod S8oifo Wy Ided® Sdrdo

e ———
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118. An alternating emf given by equation E = 300 sin [{ 100 =)t] volt is applied to a resistance
100 ohms. The rms current through the circuit is (in Amperes)
E = 300 sin [(100 m)] a‘mm o PpsEdno orgo E;&Euﬂﬁ Srodd 35335{1"}&5

ol 100 &50ye DE’:;S:S::-":: (2T rAcSBESH. u dochod® (3Wrodsiiy ¢
ﬁ:ésﬁa 3d Sovo Qg La'ua‘ir-‘-'a (rms) Doed (Srovad:bodh)

(1) :@ (2) 72- (3) Z.E_' -y i4 3
119. The magnetic susceptibility of a material of a rod is 299. Perm nl’ vacuum () is
4n = 1077 H m~', Absolute permeability of the material o is

wd £ T edhdyed PV 299. ;9 Wnsy 203050008 (1)
4z % 107 Hm™'. woxnd, 51“1 Donds ﬁn&, E5350, w00
77

() 3771 x 10 Hm™! @ 1 <1077 Hm
(3) 3771 =10 Hm™' 6 (4) 3770 10°H m™'
120. A paramagnetic sumple sh::r mngnﬂizaﬁnn of 0.8 A/m, when placed in an external

magneti¢ field of $ at a temperature 5 K. When the same sample is placed in
f

an external m 0.4 T at a temperature of 20 K, the magnctization is

o8 &8 vad borg Snds wring wohd 08 @30 woo 0.83TS" a@'ié 5K
da o b H08 vchdpodfdadn Jos 0.8 A/m. w3 S0y

ey Vg ©dha 08 & |Sowwvo 04TS sodiidypd o d wdidv,0858m i
(2) 0.8 Am™ (3) 0.8 Am™ (4) 0.1 Am

Rough Work
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CHEMISTRY

121. The mole fraction of water in 98% (w/w) H,S0, solution is
98% (w/w) H,50, [ordmod® N8 308 grio

(1) 0,02 (2) 0.1 (3) 09 (4) 0.8
122, The reduction potential of hydrogen electrode at pH 10 is

pH 10 58 7G2S Jof'98 Edhb¥do #8530 @

(1) 0.0V (2) -0.059V O

(3) 059V ) 059V 0

123. The half-life of a first order reaction is 100 seconds at 280 @t;npﬂmlm coefliciem
is 3.0, Its rate constant at 290 K in s/ is \
wh (Dga |F8res ddg wd Sdgstoo 280K 3¢ Il&m a@idorinso 3.0 wond,

20K 58 & S8z Db Hovoto s ot

(1) 693 = 107 @ 2,08 x 107
(3) 2.08 « 107 6‘4} 6.93 x 107

124. Which one of the following a

(ol a¢* anerFT FERYEHEE Va2
(1) Cds (2) ALO.,x H,0

(3) Cr,0,x H,0 6@' (4) TiO,

: * .
125. Which one of @lluwing methods is used in the concentration of sulphide ore ?
(1) Leachi (2) Froth floatation

3) $ (4) Ronsting
Bod ST Ko T 52 38 S28 pdere Pod58nod’ aRWrNNG7

(1) s ¥so (2) a8 |D8cd
(3) |BrAoso #) Fgla
Rough Work
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126. The correet arrungement of following acids of phosphorus in the increasing order of oxidation
state’ of phosphorus 18

(1) pyrophosphonie acid < orthophosphorous aeid < hypophosphorous acid
(2) hypophosphorous acid < orthophosphorous acd < pyrophosphoric acid
(3) hypophosphorous acid < pyrophosphoric acid < orthophosphorous acid
(4) pyrophosphoric acid < hypophosphorous acid < orthophosphorous acid
[Bod §*58% wdrodt .'}*"&;,55 wENBAS 3 0T DTS (&
(1) 36‘-,’!'53‘355 TRET Hg*ﬂ*f:ad:& 8530 < IPHYEH
(2) ZTr&Pnysh ealo < uf'Piyeh udjo < D6 3
(B) IR 0t ulgo < ROPAN0E v < 8FRD
() DEFFTH0F el < TR'PHHER uﬁgn"ﬁ'

127. Among the following inert gas clements, the ¢l

is
Bod ad) 3o I din Swrosted uﬁ;éﬁa’sﬁuﬁm PE0oshds

(1) Xe 6 (2) Ne
(3) Ar . (4) He

128. Crystal ficld theory does in which of the following property of coordination
compounds ? %

compounds
¢ of the bond between metal and the ligand

(1) structure ol coopds
(2) the covalent
(3) magnetic
(4) colo
A Lgrodo agor vHavgdls aEnYTe d ﬁu-;nlﬂﬁﬂ_ﬂﬁﬂﬁ;ﬂ
( podedis BB ¥aro Dovpoven

(2) s*&-8mobe Sifghie pogo 308y AZTrRIC ALTHO

(3) woladmod §6)0

(4) Sous

Rough Work
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129. In IL‘nF“]j'. Co’* uses outer d orbitals (4d) in sp’d* hybridisation. The number of unpared

electrons present in complex ion is

[CuI-'ﬁP':E‘ Co?* ware d Hbaf.r'#‘) (dd)ass Hp3d1 Sof08dmos® DATFrNoO DN okoS.
pod% wdrSd' 403 wobd JugIno Dopg

(1) 3 2 0

(3 4 (4) 2

130. ldentify from the following, the monomers which undergo cond ou“polymerisation
(308 2282208 Boedd SO LIwsnssh ' 5m SrSEBSS Mmoo sn

1. H,C-CH-CH=CH, ’\O

OH \
s

g 1 CE?:!:CI ’\Q
P =

: Qﬁﬂ c'g(b'
N |

5. F,C=CF,

6 (H,C) 2
(1) 2,4 (2) 3,5
3) 1,3 4) 1,6
Rough Work —
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131. Which one of the following sets of vitamins is fat soluble 7

(Bod D&LE Hddod® I8 F'Hed® ddofadiod?

(1) D, B,, B, E | (2) C.D, B, B,
(3) A.D,E K (4) A. D, B, B,
132. Match the following | @
List-! List-11 O
(A) Sucralose ()  Antioxidant 0
(B) lodine (I)  Artificial sw@»
(C) Sodium benzoate (1)  Antacid O
(D) Ranitidine @Y)  AntisgN
(V) FE ve
[Eod 8D 288880 < 5
| Q—nauu
(A) HoEs*E g cirot) e 5ol
(B) e@irads N )85 8BTS
() Facio DosobE \Q (1) oirownb
(D) DAES \@ 1V) cirodHbs
(V) o3 dorgo Dodisin

The correct ans@s

a8 56T\ BErTII»
( ) (© (D)
(M @ (av)
) (v (M (I

(3) anp av) «(v) dm
(4) (I amy (V) (M

Rough Waork
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133. What is the name of the following reaction ?
il

CH,CH,CH,Br ror v » CH,CH,CH, |
(1) Swarts Reaction < (2) Sandmeyer Reaction
(3) Gatierman Reaction (4) Finkelstein Reaction
(Jod Sdg Do e ST

Nal .

CH,CH,CH,Br e » CH,CH,CH, I O®
(1) argdhy Sdg (2) SrobTocid @
(3) muEsrS 8 (4) 55583 S

134,y N2 x Cone H.S0, 413K (CH),0 \é

wrm are X and Y in the above reactions 7 Qa

v X g HS0, 413K

i
R Sdsedt X Sodaln Ym Dﬂ:ﬂ? @

X
(1) C,H,OH cjﬂ,%\
(2) H,COH

(3) E.'*I-IQEJH gONa
(4) C,H,OH H,ONa
: =
135, Which one of owing methods can be used to separate a mixture of ortfio- and para-
nitropheno '
(N S@is llation (2) Crystallization
(3) Soltbility (4) Sublimation
98 Sa8akn o BEtbrdo DFEND) O $ga® T TaLBSsyRe7
(1) us Ry eSS0 (2) fa;}ﬂgﬁﬁmu
0) sdotss (4) &3 y835
Rough Work -
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136, Acetaldehyde undergoes reaction in the presence of dil. NaOH o give

(1) 3-Hydroxy bumanal (2) Ethyl scctate
(3) Butanvic scid (4) Acetic acid
A% Seo NaOH 585508 S8g570d S ma o,
(1) 3-Zvarsy wmgead (2) a3d 2588
(3) m;bﬁ*m! @$30 (4) IH8E udo
137. Identity the compounds from the following which form primary under suituble

reduction conditions !
Sob et HOTRY galisde BB S0t Byl Jhﬁﬂgﬁaﬂﬁ hERdo
w7

QN
L CHNC 2. CH,
3. C,H,CONH, i Q e
(1 2,3.4 (2) 1,4 4) 1,3.4

as {rreversible expansion of an ideal gas
8 whereas AS, . # 0 for an irreversible process.

perature whereas AS is proportional to temperature.

138, Assertion (A) ¢ All=0forare
under igsothermal

Reason (R) : AUls
The correct answer 15
(1) (A)and (R) are WQ& not the comrect explanation of (A).
(2) (A) is correct, but { correct

(3) (A) is not co R) is comect.
(4) (A)and (R (R) is the correct explanation of (A).
3 e ogstod’, ATd (B WS' Bdy ) Sidak S0 n

a5 (A
$ = ui&: sy Surdady (Sifahod; AU =0, 5 -&ﬁjaﬁadcﬁa (S35

¢

AS . #
50 ] 3 ﬁllng‘[_ﬂﬁ:g uFdSdd ) AS aSNHSLH WSS Srdadrdo.
8535 BIrerSo
( {a’\} S5:085 (R) e HOTHAD, (A)S (R)H0T0d 88e 578,
(2) (A)D08TH38, 2 (R)DOTHSH i,
(3) (A)2aTRAe 5, 577 (R) 0 THRG,
(4) (A)S:008n (R)pe HATBID, (A)E (R) SOTHS D58,

Rough Work
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139, When 0.1 moles of N,O, (g) was placed in & 1.0 litre flask ai 400 K and closed, the
following equilibrium fs reached with a to1al pressure of 6 bar.

H;.”n‘l — :Hﬂz
(%)
A:uumifg ideal behaviour of the gases, the partial pressure of N, O, (g) at equilibrium in bar
is (R = 0,083 bar L mol™ K™')
1.0 D68 8S° 0.1 Brdo N,0ga)8: 400K 58 do0d S dd Srbdahmr Busa
SdsSm 6bar o (30D D:arh8 J83808.

N.O, = 2NO,

(&) (=)

wsdy Suinosm grdod, ﬁﬁ:r&ﬂ 28 N,Oya) 38 b‘ﬁ@ud‘
(R =0.083 bar L mol™ K™)

() 268 (2) 3.32 (3) 932

o g

L 4
Q (4) 0.64
L —
140. A saturated solution of Cay(PO,), coutains2.0 = 10, éﬁ and 1.6 # 1075 Mof PO, >

| at a certain temperature, The solubility product ( Ca,(PO,), at that tempernture is
LE A0 G a2 A8 S adgudd Ca(PO o (oS b, 20 107 M Ca™" Seb b
L6x10°MPO, 507 408. od &t &R |Sdoier vyo, K
1) 800 > 107 (2) 1&45'\ ¢ (3) 2.048 x 1077 (4) 320 x 10

\Q

141, In which of the following @. H,0, acts as a reducing reagent ?
(Bod Sdg0dt, RS N chidn srdSomr ST Bnd?

(1) PbS(s) + .m!o!@L PHSO,(s) + 4H,0()
PbS(H2) 4
2) HOC

2
Jzo) _H  PbSO (D + 4H,0(S)

' &
10, —H_, H,O"+CI" + 0,

(3) Mn™ + H,0, _OH" | Mn*"+ 20H"

(4) 2Fc** + H,0, _OH" | 2F¢™ + 20H"

Rough Work
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142. The decreasing order of hydration cnthalpies of alkaline earth metal iong is
58588 &' wulrSo Al B .L‘:::qs*i}:]u: 87 [Fdoo
(1) Be™ > Mg** > Ca®* > §12* > Ba® (2) Be®" > Ba® > Mg™ > Cg® > 572
(3) Ba*" > S" > Ca?* > Mg?* > Be? (4) Be?* > Ca?* > 8§ > Mg?" > Ba?'

143. The correct increasing order of the stability of A", Ga®, In", 11° ions is

Al'.Ga',In". TI", odsrS® ‘Edﬁsu Do 200LS (£ds0 @

(1) TI' < Al" < Ga* < In' (2) Al* <Ga' -c@ In*

(3) AI'<Ga*" <In* <17 4 T <m® G!. < Al
JQ‘

144, Which of the following is used as black pigment ifn ink 7

(1) coke (2) carbon black  ( anium (4) graphite
(Fod T@S" BV $00 Dot Hod Sdo TR 537
(1) 5§ (2) 5638 0:3) BY D50 (1) (md

145. Which one of the following sets ute 1o the global warming ?
Bod vdvdvod* grntea ol ' do SHa 3487

(1) H,, NO, SO, « l (2) 50, SO, 0,
(3) Ny CH,, S0, (D), (4) CO,, CH,, CFCs(es )

146. In the estimati f"halogen, 0.18 g of an organic compound gave 0,12 g of silver bromide
What is ntage of bromine in the compound ? (Molar mass of AgBr = 188; Atomig
weight = 80) i

5 wokar IHIB pdo, 0.18g 0 o €83 vy eiso 012 bogd S 2ES
a0)08. JAREI08'D (BPWE e E¥rSo Jos? (AgBr smo S&gos = 18
Br S8drme wrddn = 80)

(1) 30.64 (2) 35.24 (3) 34.84 (4) 28.36

-
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147. C=H and C-C bond lengths (in pm) in ethane are
SIENG'D C-H 500050 C-C nod 2o s (pmodt)
(1) 100,154 (2) 133,154 (3) 110, 136 (4) 112, 154

148. What are Y and Z in the following reaction sequence 7

NaNH He*/H*
CH, = CHBr L, ,
e Y e Z O®

Y £
(1) ethane ethanol 0

(2) ethync acetic acid ¢
o

(3) ethyne ethanal )
(4) ethylamine ethanal @x
O

[Bod Sovg 508 Y 38680 Zen Dﬂaﬂ‘?g

CH, = CHBr —""Hy_, v @;‘;ﬂ z
Y Z N
(1) &ES xS Q
@) &Bs a::.ﬁ&%m;
() 25 @
) =85 20oS agird
E ; L 4
Hil.‘l‘-hg -pmenta@f void space for simple cubic. body centred cubic and hexagonal close
packed ements respectively are
NO¥ D350, wodi1Ho(88 $udo H:0059 265 dass %
o, :a = 6 g;.
TEoe 385 m ) Nt gt

(1) 32,48, 2¢ (2) 48,32, 26 (3) 48,26, 32 (4) 26,48, 32

Rough Work
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150. van't Hofl factor, i, of u 0.5% (w/w) aqueous solution of KCI which freezes ut —0.247C 15
(K, of water = 1.86 K kg mol™, Mol. wt. of KCI = 74.5)

0.5% (W/w) KCl 2o (orSn0 0.24°C 3¢ Sengsso Bodd o avotrD (van't Hofb)
Mo g0, i

(08 K= 1,86 K kg mol™!, KCl msozrdo = 74.5)

(1) 1.32 (2) 1.52 (3) 232 u@

151. The wavelength in metres, of an object of mass 1.0 g mn@j with a velocity of
1.0 ¥ 10" em s is (h = 6,626 x 107 Js)

1.0x10'cms™! Ffos dabRed, 1.0g (EHgors ﬂuéf@%ﬁ@ S80KBEgo gt
(h=6.626 = 107 Js)

(1) 6.626 = 107%7 6@& x 1072
© (3) 6.626 = 107 6.626 x 1077
152. The ratio of ground state :nmnf “He' and H is

Li?* He' %588 He e;:r;iqé Se D738
(1y 9:4:1 (2) 1:2:3
(3) 3:24¢1 \@ @ 1:4:9

153. Elements A, E Iﬂng to the same period in the long form of the periodic table.

nature of es of A, B and C is amphoteric, basic and acidic respectively. The co
nrdr.r mic¢ numbers of these elements is

& o5, KR S wd8S ‘.':é_;ﬁﬁ‘ 28 HooEL Sonofolid. A, B,C Suros e
Heerdin Sdam nsﬁswﬁu.g'ﬁﬁsu‘iﬁu. TR & Sarere MESr
Lowmgo LOTHE (S0

(1) B>A>C 2) C>B>A
(3) C>A>B (4) A>B>C

Rough Work
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154, Which one of the following is the correct order of the size of the ions 7
o woiroe werd 800 [E3rads® D8 POTHIA?

(1) 0 >F > Mg >Na" . (2) Na*>Mg? > F > 0> 4
{(3) 0 > F > Na'> Mg @) Mg** > Na'> F 3 0F
i_ﬁs. If E = the number of lone pairs of electrons on Xe,
B = the cumber of bonding pairs of electrons, O®

5 = shape of the molecule,

then, what is the correct set of E, B and 8 of XeF, ? Q
E=Xe 03 52y vabs Jus'}ﬁ z2o0bo Dowg, O
Bluneﬁ JuFMN 208 Howpg, ®

. B=um uf)s.
wond, XeF & E B, So H0Ts Lind 0

e, S
(1) 4 2 square planar (3 @ﬁui
(2) 3 3 octahedral (es %
33 3 ﬂm@%d{b Rdov)
4

4) 2 S&d|H SHde)

$ . .
\$$
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156, In a-"-'-}:\. molecule, the formal charges of oxygen atoms 1, 2, 3 arc respectively

g9 B

- - J

o
7N w1, 2, 3 siyed dESrmHe P68 D&sgorBares SdsBem

@his i
n -

1

: =3
(1) =1, 0, +1 (2) 0, =1, +1 | O®

(3) 0, +1, -1 (4) +1,0, =1 O

I57.1f 240 mL of o gas X diffuscs through & porous m ri ¥ min whereas the same
volume of méthane diffuses in 10 min at the same hmp%& pressure, the molar mass
in g mol™" of gas X is @o
W BO)8 0508 240mle X ordlud) o Qudab!ﬁ 20 0. So0ube wd adMid,
b330 34 od 8B 0Ermo .ﬁ:.zﬁ@n BodhsH 100, 9449, X odal
Srol (Edg000 gmollos® .

(ay 128 N7 @
éQ @ 32

(3) o4

158. The rms speed of n ms! (atomic mass = 4.0 g mol™') at 400 K is
40K $& SRdGondESra erdo =4.0gmol™!) ms Fdo ms'os
(1) r:@ (2) 158
) $ () 158

Rough Work
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159,18 closed vessel. 5 moles of Ayle) and 7 moles of B,(g) arc reacted in the followang

manner

Aq(e) + 3By(8) —> 2454
What s the total numbet of moles-of gases present in the container ! the end of the reaction 7
8 Baiod BENS 3Indo Ao T ardo Bylees (Bod Dgom ddﬁﬁ‘ P e .

At B (&%) —* 2&1!,1:!*1.

s ardons Savd #Lﬁﬁ‘ﬂ Sndo o R Arde Dopg J&
g - » 7 3
3 @ 7 ®).3 Q¥ 3
N
160. Observe the following r:u:l.i;:m
INO,(g) + 20H (aq) — NOjlaq) + Hﬁ(ﬂ](@h
In this r::il_ﬂﬁum
(1) NO,(g) is reduced 1o NO7(aq) and 0 10 NO; (aq)
(2) OH is oxidized to H,O ’\
(3) OH is reduced 1o Hlﬂ

(4) NO,(») is reduced «@ oxidized to NO3(aq)
Bifad Sorbd Sdghs Ho5

INO(o) + 2(& - NO(z0) +NOy@&o) + H,0 (&)
(7] ﬂdﬁ_d‘. $ o
(1) NOLSNNO(zo)™ g oh€dmu, NOG(=a) wéyg8mo TobIO
) whyidmo TolbRHb ‘
RO, 1,0 gohsdmo Bodds
(4) NO,(&%), NOmo) £ hif¥me, NOjzo)m ui\gdmo Dobdd

#

Rough Work

PAUER 61 R




	1.jpg
	2..jpg
	3.jpg
	4.jpg
	5.jpg
	6.jpg
	7.jpg
	8.jpg
	9.jpg
	10.jpg
	11.jpg
	12.jpg
	13.jpg
	14.jpg
	15.jpg
	16.jpg
	17.jpg
	18.jpg
	19.jpg
	20.jpg
	21.jpg
	22.jpg
	23.jpg
	24.jpg
	25.jpg
	26.jpg
	27.jpg
	28.jpg
	29.jpg
	30.jpg
	31.jpg
	32.jpg
	33.jpg
	34.jpg
	35.jpg
	36.jpg
	37.jpg
	38.jpg
	39.jpg
	40.jpg
	41.jpg
	42.jpg
	43.jpg
	44.jpg
	45.jpg
	46.jpg
	47.jpg
	48.jpg
	49.jpg
	50.jpg
	51.jpg
	52.jpg
	53.jpg
	54.jpg
	55.jpg
	56.jpg
	57.jpg
	58.jpg
	59.jpg
	60.jpg
	61.jpg

